

St. Louis County, Minnesota



Date of Report: 5/6/2025 11:14:35 AM

			General De	tails				
Parcel ID:	565-0010-03	440						
Document:	Abstract - 01	427373						
Document Date	e: 10/08/2021					<u></u>		
		Lee	gal Descriptio	on Details				
Plat Name:	WAASA							
Sec	ction	ownship	F	Range	Lo	ot	Block	
2	22	60		14	-		-	
Description:	SE 1/4 OF I	NE 1/4						
			Taxpayer D	etails				
Faxpayer Name	e EGGEBRAA	TEN LUCAS R 8	AMANDA R					
and Address:	3943 SALO	RD						
	EMBARRAS	S MN 55732						
			Owner Det	aile				
Owner Name	EGGEBRAA	TEN AMANDA R		uns				
Owner Name		TEN LUCAS R						
			able 2025 Tax	Summary				
	2025 - N				\$2,857.0	0		
	2025 - S	pecial Assessme	ents		\$85.0	\$85.00		
	2025 -	Total Tax &	Il Tax & Special Assessments \$2,942.00					
		Currer	nt Tax Due (a	s of 5/5/2025)			
	Due May 15		Due Octol		,	Total Due)	
2025 (at 1)a	-	0 2025 2				2025 - 1st Half Tax Due \$1,471.00		
2025 - 1st Ha	alf Tax \$1,471.0	JU 2025 - 21	2025 - 2nd Half Tax \$1,471.00		2025 -	2025 - 1st Half Tax Due		
2025 - 1st Ha	alf Tax Paid \$0.0	00 2025 - 21	2025 - 2nd Half Tax Paid \$0.00		60.00 2025 -	2025 - 2nd Half Tax Due		
2025 - 1st Ha	alf Due \$1,471.0	2025 - 2	2025 - 2nd Half Due \$1,471.00		71.00 2025 -	Total Due	\$2,942.00	
	• • • •		Parcel Det				· /	
Droporty Addro	2042 541 0	RD, EMBARRAS		ans				
Property Addre School District		ND, LINDANNAS						
Tax Increment								
Property/Home		TEN LUCAS R 8	AMANDA R					
		Assessme	nt Details (20	25 Pavable 2	2026)			
Class Code (<mark>Legend</mark>)	Homestead Status	Land EMV	Bidg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$37,600	\$385,200	\$422,800	\$0	\$0	-	
	0 - Non Homestead	\$19,800	\$0	\$19,800	\$0	\$0	-	
111		\$57,400	\$385,200	\$442,600	\$0	\$0	4341	



St. Louis County, Minnesota



				Land D	etails								
Deec	led Acres:	40.00											
Wate	erfront:	-											
Wate	er Front Feet:	0.00											
Wate	er Code & Desc:	W - DRILLED WE	LL										
Gas	Code & Desc:	-											
Sewe	er Code & Desc:	S - ON-SITE SAN	IITARY SYSTI	EM									
Lot V	Lot Width: 0.00												
Lot [Depth:	0.00											
The (dimensions shown are no	ot guaranteed to be su	urvey quality. A	Additional lot	information can be	e found at							
https	://apps.stlouiscountymn.g	gov/webPlatsIframe/fr				ions, please email PropertyT	ax@stlouiscountymn.gov.						
			Improv	vement 1	Details (SFD)								
Ir	nprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.						
	HOUSE	1932	1,30	02	2,201	U Quality / 0 Ft ²	1S+ - 1+ STORY						
	Segment	Story	Width	Width Length		Foundat	ion						
	BAS	1	13	31	403	FOUNDA	ΓΙΟΝ						
	BAS	2	12	29	348	FOUNDA	ΓΙΟΝ						
	BAS	2	19	29	551	LOW BASE	MENT						
	DK 1		10		10 100	POST ON G	ROUND						
	OP 1		10 24 240		POST ON GROUND								
	Bath Count Bedroom Cou		unt	nt Room Count		Fireplace Count	HVAC						
	1.75 BATHS 3 BEDROOM		IS	-		0 0	C&AIR_COND, WOOD						
			Impro	vement 2	Details (PB)								
lı	nprovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.						
	POLE BUILDING	1995	2,520		2,520	-	-						
Γ	Segment	Story	Width Length		Area	Foundat	ion						
	BAS	1	40	40 63 2,520 FLOATING		3 SLAB							
			Improvom	ont 3 Dota	ils (OLD LOG	ет)							
		Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.						
Improvement Type STORAGE BUILDING			Main Floor Ft ² 225		225	Dasement rinish	Sigle Code & Desc.						
SI Í			Width	-	-	- Foundat	-						
	Segment BAS	Story 1	15	Length 15	225	POST ON G							
	BAS	I					KOOND						
			Improvem	ent 4 Det	ails (ANIMAL S	ST)							
Ir	nprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.						
STORAGE BUILDING		0	24	0	240	-	-						
	Segment	Story	Width	Length	Area	Foundat	ion						
	BAS	1	12	20	240	POST ON G	ROUND						
Improvement 5 Details (SHED)													
			Improv	ement J L									
lr	nprovement Type	Year Built	-		Gross Area Ft ²	Basement Finish	Style Code & Desc.						
	nprovement Type	Year Built 0	-	oor Ft ²	• •		Style Code & Desc.						
			Main Flo	oor Ft ²	Gross Area Ft ² 36		- -						







Date of Report: 5/6/2025 11:14:35 AM

		Improveme	ent 6 Details (N	IEW SAUNA)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc.		
SAUNA	0	12	0	120	-		-		
Segment Stor		y Width	Width Length A		Foundation				
BAS	1	12	12 10 120		FLOATING SLAB				
		Impro	ovement 7 Deta	ails (ST)					
Improvement Type		Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDING 0		-	64 64						
		y Width 8	Length	Area	Foundation				
BAS	BAS 1		8	64	POST ON	GROUND			
	:	Sales Reported	to the St. Lou	is County Au	ditor				
Sal	e Date		Purchase Price		CF	RV Number			
10	/2021		\$335,000			245565			
05	/2011		\$86,550		193616				
06	/2004		\$128,100		160217				
09.	/1993		\$16,500			94179			
		A	ssessment His	tory					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$40,900	\$329,200	\$370,100) \$0	\$0			
2024 Payable 2025	111	\$22,000	\$0 \$22,00		\$0	\$0	-		
,	Total	\$62,900	\$329,200	\$392,100	\$0	\$0	3,789.00		
	201	\$35,500	\$273,500	\$309,000) \$0	\$0	-		
2023 Payable 2024	111	\$18,400	\$0	\$18,400	\$0	\$0	-		
, í	Total	\$53,900	\$273,500	\$327,400) \$0	\$0	3,180.00		
	201	\$35,500	\$249,900	\$285,400) \$0	\$0	-		
2022 Payable 2023	111	\$18,400	\$0	\$18,400	\$0	\$0	-		
	Total	\$53,900	\$249,900	\$303,800) \$0	\$0	2,922.00		
	201	\$29,200	\$99,600	\$128,800) \$0	\$0	-		
2021 Payable 2022	111	\$14,900	\$0	\$14,900	\$0	\$0	-		
·	Total	\$44,100	\$99,600	\$143,700	\$0	\$0	1,181.00		
		٦	Fax Detail Hist	ory					
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Lan	Taxable Bu d MV MV		al Taxable M		
2024	\$2,717.00	\$85.00	\$2,802.00	\$52,817			\$317,970		
2023	\$2,641.00	\$85.00	\$2,726.00	\$52,463			\$292,246		
2022	\$1,071.00	\$85.00	\$1,156.00	\$38,285		7	\$118,052		







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.